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letter on the answer sheet provided.
Gz (s)

5

answer the following two questions. (assume that Gy (5) = . and

* For the systém shown in Fig.l1,

g = SOC0HE

Q1. The characteristic equation 1s
(B 2+ -DD@G.(2)=0 B (z-)D(2)Gs(2)=0

(@) 1+(z=1)D(2)G;(2) = 0_g€) none

) 1+ (z-1)D(2)Gy(2) =0

Q2. Ifthe outpuf ¥(z) = — (2)4
@ DG (IRG ¢ (b) D(2)G,()RE)G(2). (c) 2=DD(2)G;(2)RG,NQ
@ (-2")D@F, (:)RG, (2) ©0=")D()G,OREND
g of e points the in the s— plane, s—i;F+J, intoythe 2 - plan _




Q3. The steady state response ¥(e) is '
@1 @R (@15 (@025 (05
Q6. Suppose We have a contintious time svstem described by
x(r) = Ax(¢); then the discrete mu{valant system at sampling period T, using th
@ x(k+ D= ([-054T)" x(k) 050k +1)= (I +0.5AT)(I -0.54T) " x(k)

(€) x(k+1)=(1+0.54T) " x(k) (d) x(k+1) = (L +0.54T)"(I - us,ﬂ‘}x(k) (e) none

Q7. Suppnsr: the z - transfer function of a discrete time system i }Ezi 5 ,1f r(k) = Gk =3), then. HCL
r;} 50wk ~3), (b} (0. S)IHH{J.' 3) () 4(0.5) u(k=3) (d) 4{(};}*;;{5:) (¢) none
Q8. If the Lapiace transform of a continuous signaltisss 5= -’E_—;, then the z - transform of E°(5) is ( let
5

Y E)Esm:j

z S z -z} ST zi—z
Q9. MZW ordeg#told is ;JII - T}-,-r then its output is ( assUige
iﬂ"uisf Ty _(r} Be-T) @fF-T)-uli=2T) @) u()N

: that the sampling ime is 7))
6-27) (e)none

,and e(k) = &, (\2)* cos(0.75 v&,‘u{k then D(z)

L (b) z'-2:+2 (2f 4222 @z +22+2 (&) 2t +z T
~ have a discrete time_system . deSeribed by the following

S(k) = a,r(k), where :flﬁfc) =ulk), If ¥(2) = (z —41?(;2'3 5)°

Hfference  equation

, then answer tHg following four
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